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s 500,000
Al 16,867,992
Ao A d2e (4N SEIA) 17,367,992 17,583,920 A 215,928
s 500,000
Al 16,867,992
NgaE A4 2e] 15,530,112 15,712,040 A 181,928
201 Let24E] 136,484 127,577 8,907
01 At 22l 98,414 93,984 4,430
O&x =Z2AANs=2 1,200,000 1,200
0o - 2EsS =ZIA L3kt FHE
480,000& 480
O=ZEIRAS &+ 1,600,000& 1,600
O g+t 39,800,000 39,800
o=l 8,640,000& 8,640
O=TAHEI| OI&AIE Z A2 2|
10,000,000& 10,000
O EXN s7ML X220 OHE 5 - &
2 18,000,000& 18,000
O/ n=H| 1,330,000 1,330
O R<Iges=:]l 17,364,000& 17,364
02 =224l 38,070 33,593 4,477
O==a=Z A 2,540,000& 2,540
O Xt& & Bl 13,200,000& 13,200
O33R3LAHA 10,030,000 10,030
O=& KX WAL 12,300,000& 12,300
202 O4dl 57,600 52,800 4,800
01 = LH 4 Hi 57,600 52,800 4,800
OAL7L =T A& & AH =ZAMAZ =
= 3,000,000 3,000
O=A=Z NI 9,000,000& 9,000
OJNEs+ EEZA E HMEES Ol
12,000,000& 12,000
O2LEE I 33,600,000 33,600
203 B R =&l 5,000 5,000 0
03 AIZ=XH 2 =AY 5,000 5,000 0
O+ ALY F2AI ALY 5,000,000& 5,000
204 AR A H| 36,000 35,640 360
01 ¥R A 1,200 1,200 0
OXMZ LR FH| 1,200,000 1,200
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02 =282 x4 18,480 18,120 360
(OESF=21=EN] 18,480, 000& 18,480
03 SEHLRAEHI 16,320 16,320 0
OSZYRLHE S| 14,400,000 14,400
OLR24REY S+t 1,920,000& 1,920
206 M = Hl 7,006,720 6,950,217 56,503
01 X2 Hl 7,006,720 6,950,217 56,503
ARATA F2TUH L ISHI 2L
6,999,720,000& 6,999,720
O'x=RUH| (A2 ESZ) 7,000,000 7,000
301 et A= 2,000 2,000 0
12 JEtE &2 2,000 2,000 0
ORI+ HY I MZ 2,000,000& 2,000
401 Al HI L 2 0HHI 900,000 800,000 100,000
01 A& HI 900,000 800,000 100,000
(@F=a=PNINERIN:] 140,000, 000& 140,000
O &l & 3 AtHI 740,000,000& 740,000
OMZESAEl & 23 X2 Hl 20,000,000 20,000
402 212t X201 & 7,386,308 7,696,806 N 310,498
03 QI2t | EFAFSH B 7,386,308 7,696,806 A 310,498
OM==TRE 2I Ut 7,386,308,000& 7,386,308
7S SEHAY 200,000 400,000 A 200,000
401 Al HIL 201 200,000 400,000 A 200,000
01 Al &bl 200,000 400,000 A 200,000
ORFXNF =729 &S A 200,000,000 200,000
=79 SEAMY 702,880 402,880 300,000
401 Al HI YL 2 0HHI 702,880 402,880 300,000
01 A& HI 700,000 400,000 300,000
SEFYEHESA 700,000,000 700,000
03 Al 201 Y] 2,880 2,880 0]
S TYSEESA 2,880,000 2,880
ol 5l 8] 200,000 200,000 0
801 0l Bl 8l 200,000 200,000 0
01 Btail bl gl 100,000 100,000 0
O=x=AXX = LBl 50,000, 000& 50,000
OXNESEXN & LBHoldldl 50,000, 000& 50,000
02 THoH - XH <= &= 0l 5l Bl 100,000 100,000 0
Ox=2AXMX = Mol - S H MBI
50,000, 000& 50,000
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s 100,000
Al 43,000
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Al 86,000
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286,000, 000& 286,000
s 200,000
Al 86,000
aTAE =4 20,000 0 20,000
401 Al HI K 201 20,000 0 20,000
01 A& Bl 20,000 0 20,000
O(R)2Lu=X 22lAl A 20,000,000& 20,000
HE2HAZH (AL == 0H)(JIEH/IIE) 720,274 709,244 11,030
AR (M) (Ad=ZAIEELESIH) 720,274 709,244 11,030
oI 2| 720,274 709,244 11,030
101 @124l 664,197 653,167 11,030
01 2= 654,297 653, 167 1,130
oJles 458,260,000 458,260
o824 33,357,000& 33,357
oxzuz2e+¢ 45,457,000& 45,457
(GRSELE=, 117,223,000 117,223
04 JIZHHZ2Z2XNSE+ 9,900 0 9,900
O2F =X ML HM=HF2Y
9,900,000 9,900
303 &3 31,663 31,663 0
02 &&= 31,663 31,663 0
OHdU&aNH= 31,663,000& 31,663
04 H=RE=SS 24,414 24,414 0
02 2QALLE 2 24,414 24,414 0
o=pALBHEEYS 24,414,000 24,414
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02 BBl 122,285 127,820 15,535
ontgst+MAE BZSYHl 21,720,008 21,720
OBIot+HAT BZ2YHl  100,565,0008 100,565
206 M2 | 131,000 127,000 4,000
01 bl 131,000 127,000 4,000
OGt4+E 2AZ4+468 T2 2L 2,000,008 2,000
O5taE 24 MY 15,000,0002 15,000
CEIEB =S 42,000,0002 42,000
Ot i 72,000,000 72,000
207 1 If 2t 155,000 136,600 18,400
01 Rt 155,000 136,600 18,400
OMFHEBItaMelAlE BelHBLSBTI} 8
o 20,000,000 20,000
OBYINEAE ANLHRITE ASSHHIMET
=L 100,000,002 100,000
OMBEBEREIEMEIAL &4HI e
35,000,000 35,000
307 12+0| & 2,779,116 1,794,000 985, 116
05 DIt Et 3 2,779,116 1,794,000 985, 116
OMHEBIG+MelAlE QIS 2|
155,123,008 * 122 1,861,476
Odtr AN MAAL(HE) B2 S|
76,470,008 * 122 917,640
308 XX EHH SOI & 78,000 0 78,000
IEEECE 78,000 0 78,000
OBIot+H2ANE Stz X HIESHERE
2 12,0002 * 6,500 78,000
401 A EHI L 2O 3,736,400 4,051,900 £315,500
01 Al&HI 3,736,400 4,051,900 £315,500
OBt4+E 2Z4+d 2 240E DI
330,000,000 330,000
stz AZEA 195,000, 00024 195,000
os=l 1,992,000,000% 1,992,000
Ox&DH Y| 1,219,400, 0002 1,219,400
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S30t=HalAlE 22 3,965,219 2,589,000 1,376,219
401 Al HI K 201 I 3,940,219 2,470,000 1,470,219
01 A& Bl 3,937,000 2,470,000 1,467,000
OFREO= o221 XA 800,000,000& 800,000
O2d SKNXF ot=HMa22Z2 EXAY JlI=
L HAEHEY 170,000, 000& 170,000
OSESHBLE =HIEH & DgIIsE 1
XA 447,000, 000& 447,000
OodeiiclzE o dSIIMHOHE & PLC
XA 50,000,000& 50,000
Odt=HMel sd4Xl HAZSEH S FEAE
500,000, 000& 500,000
OEEZEBotrHlAME AstE JbASMEY
XA 90,000,000& 90,000
OMFELZSHSHBLE =3 AFTBIZ LI A
250,000, 000& 250,000
OUIEZSHUSHEZZE FALMAII 2HI0]0
WA AHS 75,000,000& 75,000
OMNEEZSHSAHBIEZ HAMIANI &I W
XA 90,000,000& 90,000
OMFEEZSHSHBIEE NSXSHEI WH A
o 120,000, 000& 120,000
OEEZEBotrXelAE HEEZ ALY
500,000, 000& 500,000
OHMEZZSot=HMlAE E7L ZUHZHO
E DHAY 60,000,000& 60,000
OUEE HYSAHABEY ZHLH wHAMY
150,000, 000& 150,000
OMBSHEDE 2l HIAL
190,000, 000& 190,000
OANISHEHEZY XIS NsATE WHAE
170,000, 000& 170,000
OMBISIBdt=XMlAlE ZIlx EFHLH HA
A 180,000, 000& 180,000
OB S3ot==HM2dAE EES 015 AHI0I0
WA AHS 95,000,000& 95,000
03 A& S THHI 3,219 0 3,219
OSESHEHIDY HMLH & DAIISE W
A 447,000,000& = 0.72% 3,219
405 RHoHF S HI 25,000 119,000 A 94,000
01 AL EZFH S 25,000 119,000 A 94,000
O=+24 AEZH P (LH)
5,000,000& = 5CH 25,000
ot=5 Oldt HE 2l 116,000 160,000 A 44,000
801 Gl HI bl 96,000 140,000 A 44,000
01 BHoil bl bl 48,000 70,000 A 22,000
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O etol gyl 48,000,000& 48,000
02 THoH - = &= ol gl bl 48,000 70,000 A 22,000
OXE& X &UHl oldldl 48,000,000& 48,000
802 Btat 2 J| Ef 20,000 20,000 0
03 UH=2S 20,000 20,000 0
oOWEE W= BHEt 20,000,000 20,000
HEPES (IS AMEA) (BB ES/MotEE - =2) 37,000 25,000 12,000
LHEHH X E (Gt AFH S L3I AH) 37,000 25,000 12,000
SIEIANES 37,000 25,000 12,000
701 JIEIS HSHEZ 37,000 25,000 12,000
02 BIILELIIHINTEZ 37,000 25,000 12,000
Ot MEE A =5 37,000,000 37,000
HEMSHAY| (Gt AFH ) (DJIEH/ DIE) 1,580,862 1,585,429 N4, 567
Ol 2AH| (ST AIE S E S AH) 1,302,892 1,291,941 10,951
ol 2A | 1,302,892 1,291,941 10,951
101 @121l 1,278,772 1,267,821 10,951
01 2 79,926 79,441 485
oxU=222< 79,926,000 79,926
02 JIEt& E 13,653 12,792 861
OxU2P+(HAZFH) 13,653,000& 13,653
03 RIHLZ2Z HE 1,138,775 1,091,728 47,047
OF A2 E A 38,614,000 38,614
SSotrXHelAld 2ERA o2
1,100, 161,000& 1,100,161
04 JI2ZtH 22 XNEE S 46,418 83,860 N 37,442
0BT+ HANE 2YLH 2Ry
46,418,000& 46,418
204 &2 = A H| 24,120 24,120 0
03 S8YRZEHI 24,120 24,120 0
O3 IdR+=HFHI 24,120,000& 24,120
J23Hl (=T AL EE S H) 277,970 293,488 AN 15,518
&l 277,970 293,488 AN 15,518
201 LEt2 Y| 164,670 161,788 2,882
01 AP 2t2l bl 130,470 128,224 2,246
O AI2 22| 4l 84,470,000& 84,470
O]l 29,200,000& 29,200
(ORTE==3s]l 16,800, 000& 16,800
02 3524t 34,200 33,564 636
03322 34,200,000 34,200
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05 SR W 2,000 2,000 0
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02 A& H 2= 1,680 800 880
A A 1,680,000 1,680

03 Al =T YR =& 5,000 5,000 0
Oot=ZAtS AIHAIF 5,000,000 5,000

04 RENSELRF=LH 5,520 4,200 1,320
ORNM2YE FRF2HI 5,520,000 5,520

206 T 2 bl 8,300 8,300 0

01 =4l 8,300 8,300 0
S==HE I WAL 150,000 * 1094 4 1,500

OZAE EHMoelZE A2l & =2l

6,800,000 14| 6,800




